EQUIPMENTS PURCHASED IN C.O.E. OFFICE

S. No.	Item	No.	Cost Rs.	Date of Purchase	Company	Remarks
1.	Gesterner – Xerox Machine	1	1,29,963/-	09.03.2007	Gesterner – Ricoh India Private Ltd., Mumbai	Examination fund
2.	HP Laser Jet 1022 Printer	1	10,399/-	25.04.2007	Ansi Computers. Thanjavur	Examination fund
3.	Generator	1	67,863/-	30.03.2007	Abi & Abi Marketing, Thanjavur	Examination fund - Hondo Model – EXK 28005
4.	Computer	2	33,200 x 2 = 66,400/-	23.02.2008	HCL infosystems Ltd., Puduchery	Autonomous fund
5.	Xerox Copier	1	99,999/-	28.03.2008	Ricoh India Limited, Coimbatore	Examination fund
6.	Dot Matrix Printer	1	17,600/-	15.04.2008	Ansi Computers, Thanjavur	Autonomous fund
7.	HP Laser Jet Printer	1	17,650/-	02.12.2008	Shrie system, Thanjavur	Examination fund & issued to the Principal's room for college office
8.	Computer tables	2	6,200/-	25.04.2008	Kamala Furniture Mart, Thanjavur	Examination Fund
9.	2KVA UPS Battery	1	17,000/-	15.04.2008	Ansi Computers, Thanjavur	Autonomous fund – Among
10.	600 VA UPS	1	2,100/-	15.04.2008	Ansi Computers, Thanjavur	these two, one UPS is provided with in-built Battery

S. No.	Item	No.	Cost Rs.	Date of Purchase	Company	Remarks
11.	Stabilizers	1	3,200/-	17.04.2008	Prime Marketing, City Plaza, Trichy	Autonomous fund
12.	Vacuum Cleaner	1	7,390/-	09.04.2008	Eureka Forbes Ltd., Trichy	Examination fund
13.	Plastic Nilkamal Chairs	250	99,990/-	17.10.2008	Standard Furnitures world, Thanjavur	Examination Fund – Issued to the Seminar Hall
14.	Weld Mesh Metal Trolley	1	5,400/-	14.11.2008	Sri Balaji Engineering Work, Thanjavur	Examination Fund
15.	600 VA Microtek Inverter (3 Hours Backup)	1	14,500/-	28.09.2008	Sri Amman Gen Care, Thanjavur	Examination fund – Installed in the Principal's room of our college.
16.	2 KVA Sin wave Inverter (3 Hours Backup)	1	50,000/-	28.09.2008	Sri Amman Gen Care, Thanjavur	Examination fund – One Copier Machine, Two fans and Two lights in one room of the COE office.
17.	1 KVA online UPS (4 Hours backup) and 2 KVA Sine Wave Inverter (3 Hours backup)	2	82,000/-	10.11.2008	Sri Amman Gen Care, Thanjavur	Examination fund – One copier Machine, Two fans and Two lights in another room of the COE Office.
18.	Ricoh Xerox Copier	1	51,966.72/-	24.08.2009	Richo India Ltd., Coimbatore	Examination Fund – Issued to the Principal's Room

S. No.	Item	No.	Cost Rs.	Date of Purchase	Company	Remarks
19.	Office Table	1	1731/-	14.09.2009	Sivaraman Traders, Kumbakonam	Examination Fund – Issued to the COE office
20.	Office Tables	8	3,650 x 8 = 29200/-	05.10.2009	Thanjavur West Servodhaya, Thanjavur	Examination Fund – Issued to the Departments
21.	HP Laser Pinter – LBP 2900B	1	6500/-	08.11.2009	National Computers, Thanjavur	Examination Fund – Issued to the COE office
22.	Steel Bero	2	9800 x 2 = 19,600	22.09.2009	Thanjavur West Servodhaya – Thanjavur	Examination Fund – Issued to the College office
23.	S Type Full arm chair	50	1400 x 50 = 70,000/-	22.09.2009	Thanjavur West Servodhaya – Thanjavur	Examination Fund – Issued to the Departments
24.	Heritage Plastic Chairs	40	605.14 x 40 = 24205.60/-	14.09.2009	Sivaraman Traders, Kumbakonam	Examination Fund – Issued to the COE office
25.	Mega Plastic Tables	6	1747 x 6 = 8844/-	14.09.2009	Sivaraman Traders, Kumbakonam	Examination Fund – Issued to the COE office
26.	Steel Desks and Benches	100 Sets	3941.60 x 100 = 3,94,160/-	14.12.2009	Tansi Furniture Works, Pudukkottai	Examination Fund – Issued to the Departments
27.	Fax Machines	2 No.	7500 x 2 = 15000/- (16875 Inclusive of Tax)	24.09.2009	Elite Enterprises, Trichy	Examination fund – One issued to the COE office and other to the Principal's room

S. No.	Item	No.	Cost Rs.	Date of Purchase	Company	Remarks
28.	Wep HQ 1600 – Dot Matrix Printer	1	49,500/-	06.09.2010	Ansi Computers, Thanjavur	Examination Fund
29.	Canon Scanner	1	3,500/-	26.08.2010	Ansi Computers, Thanjavur	Examination Fund
30.	Computer Rolling Chair		13,200/-	22.02.2011	Thanjavur West Servodhaya, Thanjavur	Examination Fund
31.	Steel Bero	2	15,200/-	22.02.2011	Thanjavur West Servodhaya, Thanjavur	Examination Fund
32.	S Type Chairs	16	26,400/-	22.02.2011	Thanjavur West Servodhaya, Thanjavur	Examination Fund
33.	Steel Table	16	64,000/-	22.02.2011	Thanjavur West Servodhaya, Thanjavur	Examination Fund
34.	Students Rounded Stool	48	55,200/-	22.02.2011	Thanjavur West Servodhaya, Thanjavur	Examination Fund
35.	Cash Counting Machine	1	6,500/-	05.08.2011	CMX Electronics, No.x36, Selvapuram, 2nd Cross, Trichy	Examination Fund
36.	UTL 1400 VA Inverter with Prestolite PM 150 AH Battery	1	39,000/-	25.04.2012	Sakthi Battery World	Examination Fund

S. No.	Item	No.	Cost Rs.	Date of Purchase	Company	Remarks
37.	Executive Chair	2	8500 x 2 = 17000 + VAT 2465= 19,465/-	27.11.2012	Furn Planet Interiors India (P) Ltd., 11, Kaveri Nagar, Pudukkottai Road, Thanjavur	Examination Fund
38	OL 2000 – 240 – 2 KVA online UPS with 240 Minutes SMF (Panasonic/ Exide/ Base or any reputed) battery backup	3	81939 x 3 = 2,45,817	13.03.2013	Electronics Corporation of TamilNadu Ltd., (A Govt. of TamilNadu Enterprise)	Examination Fund